Year 2 Maths

Have a go at the exercises that focus on each learning intention for each day. Do as many exercises as you can. Remember to use your number facts and to write your working out down to help you find the answers. If you need more help or want an extra challenge: 

· Click here for the Three Times Table Song 
· Click here for Repeated addition and multiplication: Describing arrays
· Click here for The relationship between multiplication and division
· Click here to view some maths games 
· Click here to complete a Friday Challenge. You can challenge yourself on any day.
If you wish, you can share your maths work with us at: homelearning@stjeromebilingual.org 

Miss Reynolds and Miss Dear  


Monday 
LI: To count in 3s, begin to recognise numbers in the 3 times-table. To recall multiplication and division facts for the 3 times table.

You may use a beaded number line to help you to answer the questions. Challenge yourself to learn your three times table or to practice your times tables by reciting them to an adult or by writing them. 

Write the multiplication sentences: ☐ × 3 = 12; ☐ × 3 = 18. This will help you to recall your times tables.
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Extension

Click here to investigate Skip Counting 
Find the squares that Froggie skips onto to get to the pumpkin patch. She starts on 3 and finishes on 30, but she lands only on a square that has a number 3 more than the square she skips from.

Tuesday 
LI: To multiply using arrays and friendly numbers. Understand that multiplication is commutative and use it in mental calculations

Multiplication is the same as repeated addition. 
3 x 5 is the same as 5 + 5 + 5 or 3 + 3 + 3 + 3 + 3
Arrays help children to learn about multiplication. An array is a visual representation (picture) of the multiplication process, usually using dots arranged into rows and columns. The number of rows multiplied by the number of columns equals the total number of dots. Arrays can also be used for division by groups the dots into their rows or columns.
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[bookmark: _GoBack]Times-table poster
Make a poster with an array for each multiple of 3 to 30. 
Write the multiplications by the side of each array.
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Wednesday 
LI: To write multiplications to go with arrays and use arrays to solve multiplication problems, and understand that multiplication is commutative.
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Thursday 
LI: To begin to solve divisions as multiplications with a missing number and understand that division and multiplication are inverse operation 
Inverse Operations : Inverse operations are opposite operations that reverse each other and cancel each other out.
Inverse operations are opposite operations.
· Addition is the inverse operation of subtraction and multiplication is the inverse of division. 
Examples
Addition and Subtraction
15 - 6 = 9 or 15 - 9 = 6
6 + 9 = 15 or  9 + 6 = 15
Multiplication and Division
12 ÷ 3 = 4
12 ÷ 4 = 3
[image: ]In Year 2, students begin to recognise that the inverse of division is multiplication, and that this sum can also be solved by expressing it as : 4 x 3 = 12 or 3 x 4 = 12.
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Friday 
LI: To count in 2s, 3s, 5s and 10s to solve divisions; understand that division and multiplication are inverse operations; solve division problems in contexts.

Equal teams
Investigate which numbers of monsters from 1 to 30 can be divided into teams of 2, 3, 5 or 10 without leaving any left out. Record your results. 
Can you predict whether a number can be grouped in to 2s, 5s or 10s?
What do you notice about those numbers which can be grouped into 5s (2s, 10s) and those which can’t? 
Choose five numbers which can be grouped and record them as division sentences: 12 ÷ 2 = 6, 15 ÷ 5 = 3, etc.
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Counting in 3s @

Where will Jamal the kangaroo land after 5 jumps?
Where will Jamal land after 6 jumps?
Where will Jamal land after 3 jumps?
Where will Jamal land after 10 jumps?
Where will Jamal land after 7 jumps?
Where will Jamal land after 8 jumps?
What is the 4th number in the 3s count?
What is the 9th number in the 3s count?

O N ORON =

9. If we countin 3s, starting at 3, which of the following
numbers would we say: 21, 23, 25? Write five other numbers
bigger than 30 that we would say when counting in 3s.
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The Commutative Law

The Commutative Law says that when you add
or multiply numbers, you get the same answer
if you swap the numbers round.
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Complete the table.
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Do you agree or disagree with each child? Why?

Use arrays to explain your answers.

3 multiplied by 10 is the
same as 10 lots of 3.

Do you agree or disagree? Why?

2 multiplied by 2 is the
same as 2 add 2.

Do you agree or disagree? Why?
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rran nas used arrays to represent a times table.
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Draw a line from each context to the matching array. Write a context for the
array you have left over.

1buy 9 apples. They cost 5p
each. How much do I spend?

There are 2 pens in each packet.
If I buy 20 pens, how many
packets do I buy?

oo

There are 10 cows in each field.
There are 3 fields of cows. How
many cows are there altogether?

My context

My array 40 children are going to see a
film. 5 children can fit in the car
at a time. How many journeys

does the car need to make?
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Draw a line from each context to the matching array. Write a context for the

array you have left over.

I have 22 sweets. I give 2 to
each person in the class. How
many people are in the class?

1 give each of my dogs 5 bones.
I have 3 dogs. How many bones
do I need to buy?

1 use 2 eggs in each of my cakes
and bake 6 cakes. How many
eggs do I need altogether?

I can see some houses. Each

house has 2 chimneys and 1

count 24 chimneys. How many
houses are there?

My context:
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Draw an array (using the squares to help you) and a picture to help you work
out the answer to this puzzle.

Remember to make your picture really simple!

Draw jumps on the number line to match what you have done.

Fran needs 25 party poppers. There are 5 party poppers in a packet.
How many packets does she need to buy?
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Make an array with counters or draw one (using the squares to help you) and
a picture to help you work out the answer to this puzzle.

Remember to make your picture really simple!

Draw jumps on the number line to match what you have done.

Filip has 20 stickers. He sticks 5 on each page of his book. How many
pages does he fill?
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Draw an array and draw a very simple picture to show how you would work
this out.

° Some children are going to see a film. If 5 children can travel in each

car, and there are 7 cars full of children, how many are going to the
cinema?

Make a context for this array and draw a picture to show how to solve
the problem.
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Make a context jor this array and draw a picture to show how to
solve the problem.

Can you make up one of your own? Find as many ways to represent it as
you can.
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1. How many wheels
would 6 motorbikes have?

2.1f 2 taxis arrive at the
party at the same time,
each carrying 5
passengers, how many
people arrive at once?

3. Eight animals
walked onto the ark in
2s. How many pairs of
animals were there?

4. All four judges gave
the dancer a score of 5.
How many did she score
altogether?

5. Six people came to the
show and they paid £5
each. How much were
the ticket sales
altogether?

6. There are 3 flowers
in the garden. Each
flower has five petals.
How many petals
altogether?

7. Sam has 6 packets of
biscuits. Each packet has
10 biscuits in it. How
many biscuits are there
altogether?

8. There are 4 seats in
each cart on the ride.
How many seats are
there in 10 carts?

9. There are 20 owls in
Carol's collection. She
can house 10 owls in
each cage. How many
cages will she need to
house all the owls?

[ )
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Red Group had 3 goes on the boats. Asif decides to buy 12 bags of lemur food.
How much have they spent altogether? How much does he spend?

\. v
10 children have &4 goes on the helter skelter. Liam has 8 goes on the coconut shy. He knocks
How many goes does that make altogether? off 2 coconuts each time.

How many coconuts does he win altogether?
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How much will it cost for 9 children to have a go?

e ——

Yellow Group have £35 left to spend.

There are 6 of them.
Can they afford to go in the Fun House?

FUN HOUSE

£5

5 children go into the shop.

They buy 3 stickers each.
How many stickers does the shop sell in total?

|

The model train costs 10p per stop.

Alice stays on for 12 stops.
How much does she spend?
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Climbing or Sailing? '3 2 ¢ Feeding the Seals *hh

Green Group want to do an activity for 10 Hari spends £10 on fish.
minutes. They want to choose the cheapest. How many fish does he buy?
Should they go climbing or sailing?

Climbing: Sailing:
£3 for 10 mins £2 for 5 mins

How much would it cost for 5 of them to sail for
10 minutes?

[ ——— Ty

4 children go on the tree top climb.

Annabelle spends £6 on inks MGIE How much does it cost altogether?
drinks for her friends. Hot chocolate
They all have the same with cream and

drink marshmallows - £3

How many friends might
she have?

Hot chocolate - £2

Lemonade - £1
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One group collects 20 blackberries to
bake into pies.
1f they bake 2 pies, how many
blackberries can they put into each pie?

&
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While pond dipping,
the children catch 30
newts to study.

1f they put 5 in each
bucket, how many
buckets will they need?

rrrr——

There are 14 marshmallows left for Liam and
Red'’s hot chocolate.
How many can they have each?

R

Finn and Dan collect objects to make a picture.
They have 50 objects and want to use 10 for each
picture. How many pictures can they make?
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One group catches 40 pond snails. They divide
them between 5 microscopes.
How many pond snails should they put under
each microscope?

r———2

The children collect 50 branches to make
shelters. They share them between the 5 groups.
How many branches does each group have?

. 7

——

Mrs Busfield is setting out the picnic. She has
brought 50 sandwiches and 10 plates.
How many sandwiches should she put on each plate?

&

Toasted Marshmallows * &

It takes 2 minutes to toast a marshmallow.
How many marshmallows can be toasted in 22
minutes?

KN
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Mrs Busfield is making hot chocolate for 6
children. She has 28 marshmallows.
Does she have enough to give them 5 each?
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One group catches 18 fish. They want to put 5 in
each jar so they can see them clearly.
How many jars do they need?

. J

J

13

Fred, Abi and Pasha take
equal turns on the rope swing.
They swing for 24 minutes.

How long do they get each?

e

5 friends collect 55 conkers. They share them fairly.
How many do they get each?

-2





